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Find the measurement indicated in each parallelogram.
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Solve for the variable. Each figure is a Parallelogram.
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Find the measures of the numbered angles for each parallelogram.
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Find'the measures of the numbered angles in each rhombus.
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17. Find the given lengths in the rhombus below.

dl ZY = (::9

b XZ=_ o

c) WY = ? )

_ =

d wx=__ -~

LMNO is a rectangle. Find the following. all £ 5 &€ 9 anol A _’\j”\’l\g ae =

For 18 and 19. Find the value of x and the length of each diagonal. )
Gx-3=2x+  3X=9

18. LN =5x—-8 and MO =2x+1 ie ¥ = ]f—ﬂ—"":— M N
19. LN =3x + 1and MO=8v—4 _ jHogrash = 1]
3‘;(*{':' FY=Y S=5X = A\O\‘j(“r\d\lﬁ o
20. Find the measure of zM  ¢J()°
L o

21. Given the measure of ZNMO is 32°,
a) Find the measure of £ZLMO i 3 ’ 9o -1 =S )

0y 0
b) Find the measure of ZLOM 5 g

22. ABCD is a square.

a) Find the measure of angle 2. /1‘0‘
b) Find the measure of angle 1. ({SG¢
¢) Find the length of side AB. (%

d) Find the length of DB.
i)
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23. Given: —ABCD

Name

/7 = peralldlogyam

ek B, 2
Prove: AC and BD bisect each other at E. (B>
i’%
A D
Statements Reasons
1) ABCD is a parallelogram. 1) Given

2) AB|IDC

3 L1=s422= 143

4) AE = DC

5) d._DARE = ACDE
6) AE = CE:BE = DE

7 1._AC andd BD  isect
eafn gther ot E

24. Given: LUQV = ZRVO

5) ASA 7
6} a. Cp CT C

7) Deliniton ol biseclor

[ R e
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LTUQ = LSRRV o \r\\
Prove: QRVU is a parallelogram T U v
Statement Reason
1. LUQV = ZRVQ ZLTUQ=ZLSRV i C?[W
mZTUQ+mZQUV =180° , UAeo- palrs ave
" m/SRV +mZORV =180° - Swplemrentary
3. mLTUQ +mZLQUV =mZSRV +mZQORV | 3. ,},;f'aﬂ <) e §
4 mLTUQ+mLQUV =mZLTUQ+mZQRV | 4. S \Ji{“;‘k"”\‘f\f%'; o~ P
5. mZQUV =zmZQORV 5 N> Jf_‘if@._if‘\’?\r}/\ )
6. OV =07 & e £Lwive P,
7. AUQV = ARVQ 7 AA.S
s UO=RV, UV =RO . (pCTC
9. ORVU isa parallelogram 9 (onversu ok O\%&ogl\\—ﬂ Siah?,g LA
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25. Given: ABCD is a parallelogram

AC bisects /BAD and #BCD
Prove: ABCDis arhombus

Statement Reason
1. AC bisects ZBAD and ZBCD 1. G yen
2 cl=s2and 23224 2 AeLintan o an £ bisctor
3. AC=AC e flaxive Yvope b \4
4, AABC = AADC 4. A < A
5. AB=AD and BC =CD 5. CpPCTC
6. ABCD is a parallelogram 6. Co) !\[W“\
7. AB=CD and BC = 4D 7 q:z«:?mm%ﬁi LMS ave F ing £7
8. AB=AD=BC=CD 8. 'Syl f’r\A’\oV\ B
9. ABCDis a rhombus 9.

da i ﬁ'\wmﬂ A a Bhomlad S

B C
26. Given: ABCD is a parallelogram X3 %3
Prove: x=06

A D

Statement Reason
1. ABCD is a parallelogram 1. C:)i\/‘i/v'\
2. AB=DC 2 N o L7 opposiie (lded are |z
3. AB=DC 36 segmends_ave 2 thair el ore=
4 x+3-2x-3 “sub Shifvhen P
5. 3=x-3 5 Subdvalhion P
6. 6=x 6 Addditon ¥
7. x=6 . ‘%t}:mﬁ‘\k’;’svia 2
27. Given: ABCD is a rectangle

AC=Ty-19
BD=5y+1
Prove: y=10

Statement Reason
1. ABCD is a rectangle 1. G){\fm
2. AC=BD > Diogorals {n a veCargle ae 2
3. AC=BD % Dekinition of- ("c:/\cn(“\iﬁfi(.t
4, AC=Ty-19, BD=5y-+1 4. Cay o
5. 7y—-19=5y+1 5. S\/’OS’\’\T\/'\"{W\ P
6. 2y—19=1 6. cAAvechan P
7. 2y =20 7. A-C;J!,g\f~l(irpf\. 2
5 y=10 8. DiviSion P




